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U Bk B gAT =5 fBum 900 wmH

A IR = 4 fEwm 700 A
+5 feur 900 9
10 f&1 600 UH
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. T 7 fe¥ge wRie = 4 T&5UT 500 IR
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AT & goga # 3R = 35 feur 740 U
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3 feur 690 U




10. HFER & U AT = 269 fuT 300 I
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Y AT = 269 fur 300 W
— 28 fpur 645 UM
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13. AN &7 9o = 40 & 700 W
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fif s= = 700 IH
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(®B) 12 eiro (@) 38 o (M 14 o
5 tlo 35 @to 17 o
+7 Tllo +54 §ro +37 dro
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(o) 150 fieiieiier (3) 50 feieier (@) 140 felemex
200 fHeTerex 320 fieTerex 720 fireTerex
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7 o 13 @o 200 fiefto 253 firelto
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(g) oo fiefo () o felto (@)  elo  felio
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+48.670 +40.241 +40.499
103.210 123.111 97.276
(@) o fHero (3 e fhetto  (3r) o femo
67.542 160.692 140.237
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132.714 332.864 320.404
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A # 3R a4 s = 27 @0 485 fhen
1 # ga ad

77 @0 985 fien

e 3 T8m & fow wf e foram = 4 o 700 faen

399 ausT ur feman = 8 &0 240 fen
B U =4 ¢0 700 Rl + 8 €0 240 fhen
=12 &0 940 fen

50 @0 500 fHelr + 27 @0 485 fien



. (@)

. (@)

aro- 14 |99

T 14.1
. (®B) 4 (@) 366 (m 31 (a) 1 () 29
. (®) 3:00 (@) 12:00 (1N 6:00 (71) 10:00
. @I W
3T 14.2
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(f) 3WREA () Yaigd (T) gared
3T 14.3
10 fiFe (=) 10 e (1) 60 e
(7) 30 fime (5) 30 fiFe
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